BR5E: TX-TL-E—BRFEHA S 4 D

W& HARLE TLTAT7— C
})\
PR-E T
. _>1/_ . _
bz FishL LS
&y Zy T
M REANE
RTF4 (NHTUH) o= i HFEERAYF ‘
14—k Ras — ) -
R—I B2 5 BEI/OLES N
| <<
BEESS !
PR L XX E N Y
| L SC7LT2E0NAITOERDEE Y EER
TV—R=yTILELEERDIGE N ZIBRE (1
(BERIFT—R=vTILfHE)
EARXBKL (BRLERT)
RETEERT
ERLCERDIGE L #BRE
HABA£
BT mm
R—IL RFq (T
iz | | e |wmeman| T8 | BHIBLEL 50 1%?4 pdi ﬁ;/7ﬁ:% .
BHES mm Lic] HE
¢ B w SeE| ¢ O G ¢D F A M a oE
H7 O | 3= | 5% |+013| 05| 05| x07| usesg | = il i KN | KN g
-0.13 BT 84T
PR3E (1) | 300 | 600 | 794 | 52 | 45 | 120 | 270 | 150 | M3x05 | 14 156 | 245 | 7
PR4E (1) | 400 | 7.00 | 952 | 65 | 53 | 140 | 300 | 170 | Max07 | 13 225 | 353 | 10
PR5E 500 | 800 [11.11| 77 | 60 | 160 | 330 | 200 | M5x08 | 13 451 | 706 | 13
PR6E 600 | 900 [1270 | 90 | 68 | 180 | 360 | 220 | M6x10 | 13 6.37 | 990 | 19
PRSE 8.00 | 1200 [ 1588 | 104 | 9.0 | 220 | 420 | 250 | M8x125| 14 1372 | 2147 | 32
PR10E 10.00 [ 14.00 [ 19.05 | 12.9 | 105 | 26.0 | 480 | 29.0 | M10x15| 13 | 5051 | 003 | 1882 |29.41 | 54
PR12E 12.00 | 16.00 [ 2222 | 154 | 12.0 | 300 | 540 | 330 [M12x1.75] 13 | MAX | MAX [ 2520 [ 39.42 | 85
PR14E 14.00 [ 19.00 | 2540 | 169 | 135 | 340 | 600 | 36.0 | M14x20| 16 3049 4775 | 126
PRI16E 16.00 | 21.00 | 28.58 | 19.4 | 150 | 380 | 66.0 | 400 | Mi6x20| 15 38.04 | 59.64 | 185
PRI18E 18.00 2300 |31.75 | 219 | 165 | 420 | 720 | 440 | Mi8x 15| 15 46.28 | 72.47 | 258
PR20E | 20.00 |25.00 | 3492 | 244 | 180 | 460 | 780 | 470 | M20x 15| 14 53.83 | 84.33 | 340
PR22E | 22.00 [ 2800 [38.10 | 258 | 200 | 500 | 840 | 51.0 | M22x 15[ 15 63.93 [ 10022 | 435
b= T3]
(1)PR3E, PRAEICIFF ) —R=wT LAt EFER A, HERBRICOENBEELVREBED 1 EZFEUKERTLIENHYFET,
2SCTINTEE
BEAT :0.051mmMAX

FEFE VM) BAT :0.030mmMMAX
OFEICH--TIXTLTAT—ILIZTHEHRIESLY,

AEYA4X| @3 ~p6 | ~p10 | ~¢p 18 | ~¢ 30
HT A& +10 +12 +15 +18 +21
(4 m) 0 0 0 0 0




